FT2BIRAEL TP ZBOTARE (B VB )o s i mpilipasts

LA2F TV A
1 mfE WeAE (BB L)
e EHR (BB L) —— 153
15- 2 1 1—n A B e (BRILTE)
KO AR (BRLvE) 1 1 0 152
158 0 0 A B (BRILES)
S B ORE (BBILES) 0 15 9
15- 3 0 1‘_*E 8] fl@ h, (ﬁﬁlﬂ%)
A REE CER I ) ———1 1 0 15- 6
15-11 1 0 0 K E A (BRF)
¥ E W ) —o ||, S ( |
15- 9 (6} S Eﬁé’% AB
#HoAr ML F (RRY) =1 1 151
16-14 0 15 5 e HARNHIE (/M)
e KRR (BRILSR) 0] 15- 1 1 "
1 =g 3% A (ERILE)
MEZZA (FRILE) =————1 153
15- 8 0 0 M = (AR L)
B FET (R ) o] 1 0 15- 4
15- 9 0 1 Ve B W B (BES)
o R (RRY) —I1 o 151
15713 I—f 5 % % (BRILmE)
B FEA CER ) 0 0 151
X 0 1 o—4 J) Bk (RE¥)
oM E A (BRE) =1 0 1o
15- 4 1 b 111 %ff% (fBU—I)
WoEH L (R M) 1 N ] R
15- 8 1 A ERA (BBr)
FI A (AR L) — 15- 3
151 1 0 K& A€ (B )
a5 E (BRY) 0] 1 0 15- 5
X 0 1 o & B (BRI
AHMAER (BBILEE) = 157
15-10 1 1—E5W A (AR 1)
N ROE A (;J%E%'_%L') 0 0 0 15-11
15-12 1 0 (0] L (;J%E'?)
ok 3R F (BRILR) = 0 15- 6
155 e 5 £ & (HPILR)
fa WA (BRLmE) 0 o O
1511 1576 I—HEPERT (KR
aA BBE (BB L) 0 1 159
21-19 0 w R (BRILTE)
BEoWE = B (AR ILEE) 0 0 15-13
15-12 1 0o 0] e FEa (AR )
i A L) — 1 o s
15- 7 0 i T B (ﬁﬁlﬂ%)
NEE FF CER ) 0 e
1511 0 I 9 & B (ERL7E)
FAFH F (RRY) =1 1 0 x
15 2 1 o— - W H # (KR
Wl FE A (BRILTYE)  e— 153
1 fRHt ARAE (AR )




